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Half-bricks — 799°82

OVERVIEW

There is a 7109 which states that 7°n¥% RX127: it will be that yvn 0921 pyIn pPn 2K’
'111y°; “The stone will shout from the wall and a 9°92 from (a tree) [wood] will
respond to the stone’. It seems from this 105 that 093 is a wooden object. The X773
however interprets 0°93 to mean half-bricks, made from mortar; not wood. n1901n
will resolve this apparent contradiction.
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The X723 explains that 1°0°93 are half-bricks.

mooIn asks:
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The "9 has a difficulty; for the pwp states, ‘And a 09> from a tree will
answer him’, this implies that a 0’92 is made from wood. It is not part of a brick.

Mo0IN answers:
DVNPYMY NHYNRDN DIYY PN 1N RNDYT PNYY 139329 99IN)

And the "1 says that perhaps they would place wood above and below the

bricks (to frame them, etc.) Therefore there is no contradiction from the P105. The P09 says
that the 993 brick will respond from within its wooden frame.

SUMMARY

1002 are half bricks. They are used to construct a wall within a wooden framework.
The P05 states that the half brick 9°92 will call out from its wooden framework to
respond to the stone.

THINKING IT OVER
Why did not mdoIn ask his question later in the X 723; when the X 23 interprets
70%92 to mean 1IXR? Why is mdon asking his question in the 71wn, before we are
certain what °0°92 1s?!
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